Algebra 2 Review Ch. 4

Test Ch. 4 Tues.



2. MULTIPLE CHQICE For which equation is the axis of
symmet @ esson 4-1 =
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4, PHYSICAL SCIENCE From 4 feet above the ground, Maya
throws a ball upward with a velocity of 18 feet per second.

The height h(t) aya throws the
ball is given by\h(t) = —161* + 18t + 4.Find the maximum
height reached'by the ball and The Time that this height is

reached. (Lesson 4-1)
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Solve each equation by factoring.
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Axt+bx +c =0
14. Write a quadratic equation in standard form with

roots 6and1
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15. TRIA md the dimensions of a triangle if the
@ easure of the height and the area is
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Simplify.
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